Efficiency vs Dxy(PV)

S 0.5
o
0.4
5
o O.
>
30.3
T
5 0
T
0.2
0
0.1!
0 TH ¥ -
I
0.0!
o 10 ’ \I:A..LH\H‘HE A
g |
o 11T | }
| |
1)
|
0. ‘ ‘ =
=20 15 20
TP dxy(PV) (cm
—_ nal_step. ar-phasel-newgeom
—e— DQM_T mkFll slepZ ttbar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
— —— DQM_fast_step2_ttbar-phasel-newgeom
I Efficienc] —— DQM_pixe[CPETemplate_step2_ttbar-phasel-newgeom
S .8
o
=
>
x
o
[
>
>
8)
c
2
2
=
@

o .

=30 -20 -10 10 20 30

o.
TP dz(PV) (cm)
0.

o 0 i
< 105 -+ --HIHEHETE - -
o
Ww-F4-- .- Fl B | | e
095 - ¢ -- EN.I --tf----- :
. :
0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


